V:\Traffic Signals\7. Projects\Henderson & Munroe S-1257\Preliminary_Henderson & Munroe S-1257.dwg

DETECTION CONNECTION DETAILS TRAFFIC SIGNALS EQUIPMENT DISPLAY
SENSOR | POLE DETECTION NTS. HENDERSON HIGHWAY
NO. NO. LOCATION NOTES
MATRIX 1 10
HENDERSON HIGHWAY PTZ CAMERA
CONSTRUCTIO OTES: (AXIS QB114—E)
NSTRUCTION NOT ARM POQOINTING EAST
PROJECT SCOPE 8.
1. INSTALL CONDUIT, BASES AND PITS @ , 9
AS SHOWN. <l T.s. TIE LNE TO KIMBERLY AVE. . 12_glz5
2. REBUILD SERVICE AND INSTALL NOT IN USE, SEE DWG. 5—1704 ® (300) " ,
GROUND ROD ON WOOD POLE #12 ©)| ot = 10.35
AS SHOWN. INSTALL MAST AND 3 O°)<_
DISCONNECT ON XX QUADRANT. P NE
INSTALL WEATHER HEAD 150mm 6.
LOWER THAN THE LOWEST HYDRO ]
WIRE. TOTAL LENGTH OF SERVICE N
. >
CABLE: 35m. & L
3. INSTALL EQUIPMENT AS SHOWN. N -
REMOVE JOINT USE POLE #E1. E
4. TIMINGS REQUIRED. <>(
L
PROJECT COORDINATION o
1. COORDINATE WORK WITH (CA’s %
NAME), (204) XXX—XXXX. )
2. COORDINATE HYDRO SERVICE 5. =
INSTALLATION WITH (HYDRO
DESIGNER), (204) XXX—XXXX. RE:
JUTA PERMIT No. BXXXXX PUBLIC LANE
3. TWO WEEKS PRIOR TO
CONSTRUCTION, COORDINATE 3
REMOVAL OF JOINT USE POLE #ET1 -
WITH DARREN TABAK, (204) REMOVE & ROADWAY AND SIDEWALK CONSTRUCTION
360—7521, dtabak®hydro.mb.ca. REPLACE WITH TO BE COMPLETED BY OTHERS (TYP.)
8. PRECAST PIT
. o)
7. 270 (&N S 2.00 4.
WE_Z LS =
===\, Ly
-
6. \ L% 3
R \D"\! -
EXISTING 1.5” \\\\\ <>(
PE DUCT (TYP.) \\\ g
W Ll
e} (@]
\ &
W 5
W PROPOSED 2” =
PE DUCT (TYP.)
EQUIPMENT DISPLAY LEGEND
'—’J_/_I —
\; EXISTING PROPOSED (AS SHOWN BELOW)
INSTALL MAST T.S. TIE LINE TO BRAZIER ST. ® ’
AND DISCONNECT NOT IN USE, SEE DWG. S—1704 % DS AN HEAD J VEHICLE DETECTION % TRAFFIC SIGNAL HEAD 12 LOW ARM (SHOWN FROM CENTRE)
ON XX QUADRANT HIGH ARM (SHOWN FROM SIDE)
4. PEDESTRIAN PB, DIRECTION @ TRAFFICSIGNALPOLE  (® RED FLASHER ) LUMINAIRE
\/\ CORRIDOR BOX (GPB = GUARDIAN PB)
3. — s oip IO o) NSOUMDRECTON @ WBERFSHER ) cuers
NO. EQUIPMENT LIST ARM BASE| B.B. | | NO. EQUIPMENT LIST ARM BASE| B.B.
1. | 35" SIGNAL FOR XX WATT G | GD ||11.] 332 CABINET/2070 CONTROLLER
(XXXX LUMEN) LUMINAIRE
12.
SERVICE:
E1. (TO BE REMOVED)
| —T.S. TIE LINE FROM JOHNSON AVE.
ol NOT IN USE, SEE DWG. S—1704
9. | 35’ SIGNAL FOR CAMERA 12’ | OD | DD
w 10.| 35" SIGNAL FOR XX WATT G | GD
(XXXX LUMEN) LUMINAIRE
INTERNAL REVIEW TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
OPERATIONS:
DATE INITIALS P LAN VI EW . U N D E R G R O U N D C O N STR U CTI O N EXISTING PROPOSED (AS SHOWN BELOW) BOLT SQUARE (8.5 DIA.
ABANDONED DISCONNECTED (LOOPS ONLY)
TIMINGS (INITIAL): 1:250
NEW TIMINGS? DATE INITIALS 1 1/2" PE CONDUIT —r—— POLE BASE e} TYPE "A" -8 1/8" -
TYPE "B" - 6 3/4" (’ 3
TIMINGS (PRE-":C): 2" PE CONDUIT o PE em— o ¢ -_— CONTROLLER BASE TYPE "C" - 8 1/8" SCREW TYPE bJI
NEW TIMINGS? DATE INITIALS 2" ENT CONDUIT N —y— PEDESTAL BASE E TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
TMC: TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
DATE NITIALS AERIAL / BURIED CABLE - TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
STREET LIGHTING: CONDUIT STUB — SERVICE BOX (PIT) O TYPE"E" -9 9/16" SCREW TYPE
DATE INITIALS " TYPE "F" B 9 9/16"
BREAK-IN - 24" PRECAST PIT A TYPE "G" - 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
TRAFFIC MANAGEMENT: SPLICE - — 30" PRECAST PIT A TYPE "GS" - 8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
DATE INTIALS TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
FACILITIES PLANNING: 36" PRECAST PIT <> TYPE "H" - 9 7/8" SCREW TYPE
DATE INITIALS SAW-CUT LOOPS W TYPE"I"-7 3/4"
REMOVAL TYPE "J"- 10 5/8", 1 1/4" DIA. BOLTS
/ R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN e — PROPERTYLINE | — — — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS AocOmNTS FNGIEER'S SEAL
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (& THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /—\
SEWER 300 SEWER CURB&CURBRAMP | ___ ——— STREET LIGHT L UNDERGROUND STRUCTURES ID DATE (vvvvmmion) b . PUBLIC WORKS DEPARTMENT
@ WARNING TIE = . RS. PRELIMINARY Wlnmpeg TRANSPORTATION DIVISION
DRAWN BY
CATCH BASIN D SLOPE —rlTl—l_l-l_l—rl_ RAILWAY POLE m LIABILITY DlSCLAlMER NOT'CE
s - WATER & WASTE REVIEW 1D 11 DT NFORHITON ROOED P roun e e NOT FOR
CURB INLET v CULVERT b - GUY-WIRE — C.H. DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYPRO — - — PUILDING 777 FENCE " " [\lo(():-/lx-TElgNs OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST creceR ey Efggomsgs:gl’:‘;ﬁgg A'E':D‘f{’\zfii%gNSB'LOS\EEER(%EZE;E%E'ESOE:&?NB“EE TRAFFIC SIGNALS JIESS OTHERHISEROTED
s | _wes O ST Sl 0T Y Wt SRR o HENDERSON HWY. & MUNROE AVE,  [Fomemmeee
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES A ISSUED FOR INTERNAL REVIEW ;VUH;:-I—ES’SEED\/Ss SLgH?”\/iYRTYPl:RR-:—SYINgOFT?OII\ZU'IEJHREYIIY? lIJ_SI?sC’)FOgR gémﬁﬁg: S 1 257
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | BeFore PROCEEDING WITH CONSTRUCTION. NO. | REVISION DATE By UPON. THIS INFORMATION ’ -
. (YYYY/MM/DD) APPROVED BY , .



AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
750x1125 SEWER

AutoCAD SHX Text
400 F.M.

AutoCAD SHX Text
300 W.M.

AutoCAD SHX Text
2075x3150 SEWER

AutoCAD SHX Text
2150x3150 SEWER

AutoCAD SHX Text
250 W.M.

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
1350 SEWER

AutoCAD SHX Text
400 F.M.

AutoCAD SHX Text
300 W.M.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
300 W.M.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
W

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
800 SEWER (ABAND.)

AutoCAD SHX Text
C

AutoCAD SHX Text
E1.

AutoCAD SHX Text
11.

AutoCAD SHX Text
10.

AutoCAD SHX Text
9.

AutoCAD SHX Text
8.

AutoCAD SHX Text
7.

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
3.

AutoCAD SHX Text
12.

AutoCAD SHX Text
T.S. TIE LINE FROM JOHNSON AVE. NOT IN USE, SEE DWG. S-1704

AutoCAD SHX Text
T.S. TIE LINE TO KIMBERLY AVE. NOT IN USE, SEE DWG. S-1704

AutoCAD SHX Text
T.S. TIE LINE TO BRAZIER ST. NOT IN USE, SEE DWG. S-1704

AutoCAD SHX Text
O.H.S.S. #S-622

AutoCAD SHX Text
PLANTER

AutoCAD SHX Text
SL

AutoCAD SHX Text
W

AutoCAD SHX Text
C

AutoCAD SHX Text
1.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
REMOVE & REPLACE WITH PRECAST PIT

AutoCAD SHX Text
INSTALL MAST AND DISCONNECT ON XX QUADRANT

AutoCAD SHX Text
R

AutoCAD SHX Text
EXISTING 1.5" PE DUCT (TYP.)

AutoCAD SHX Text
PROPOSED 2" PE DUCT (TYP.)

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
C

AutoCAD SHX Text
NB

AutoCAD SHX Text
NB

AutoCAD SHX Text
35'

AutoCAD SHX Text
35'

AutoCAD SHX Text
WB

AutoCAD SHX Text
8'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
12'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
PB

AutoCAD SHX Text
12'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
EB

AutoCAD SHX Text
18'

AutoCAD SHX Text
8'

AutoCAD SHX Text
8'

AutoCAD SHX Text
PB

AutoCAD SHX Text
PB

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
11.

AutoCAD SHX Text
10.

AutoCAD SHX Text
9.

AutoCAD SHX Text
8.

AutoCAD SHX Text
7.

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
3.

AutoCAD SHX Text
35'

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
PTZ CAMERA (AXIS Q6114-E) ARM POINTING EAST

AutoCAD SHX Text
(300°)

AutoCAD SHX Text
(300°)

AutoCAD SHX Text
1.

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
A

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
1.

AutoCAD SHX Text
G

AutoCAD SHX Text
GD

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
HENDERSON HIGHWAY

AutoCAD SHX Text
MUNROE AVENUE

AutoCAD SHX Text
HENDERSON HIGHWAY

AutoCAD SHX Text
PUBLIC LANE

AutoCAD SHX Text
MUNROE AVENUE

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
8'

AutoCAD SHX Text
B

AutoCAD SHX Text
BD

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
3.

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
18' SIGNAL

AutoCAD SHX Text
4.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
5.

AutoCAD SHX Text
12'

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
10' SIGNAL

AutoCAD SHX Text
6.

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
DAVIT

AutoCAD SHX Text
7.

AutoCAD SHX Text
8'

AutoCAD SHX Text
A

AutoCAD SHX Text
AD

AutoCAD SHX Text
35' SIGNAL FOR CAMERA

AutoCAD SHX Text
8.

AutoCAD SHX Text
12'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DD

AutoCAD SHX Text
9.

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
10.

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
12.

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
11.

AutoCAD SHX Text
35' S.L. (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
E1.

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
G

AutoCAD SHX Text
GD

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
10

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS INSTALL CONDUIT, BASES AND PITS AS SHOWN. 2. REBUILD SERVICE AND INSTALL REBUILD SERVICE AND INSTALL GROUND ROD ON WOOD POLE #12 AS SHOWN. INSTALL MAST AND DISCONNECT ON XX QUADRANT. INSTALL WEATHER HEAD 150mm LOWER THAN THE LOWEST HYDRO WIRE. TOTAL LENGTH OF SERVICE CABLE: 35m. 3. INSTALL EQUIPMENT AS SHOWN. INSTALL EQUIPMENT AS SHOWN. REMOVE JOINT USE POLE #E1. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE COORDINATE HYDRO SERVICE INSTALLATION WITH (HYDRO DESIGNER), (204) XXX-XXXX. RE: JUTA PERMIT No. BXXXXX 3. TWO WEEKS PRIOR TO TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF JOINT USE POLE #E1 WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.


	Sheets and Views
	Layout1


